EARAROBEEIERT — 2 N— IBISH —F

2015558280 (K) 4EI#A3H

Il >%B8# B8 #5%—# (xwlw | lmEmml - |5 ) eom 8
[AE£] 1% :155,000” ~ 2#%:31,000”  3#%&:16,000M  4%&:0MH / 5&:0M
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
# o5 | EERRA 1:42.3 1-1-1-1 | 37.8| -— 2 505 | HEEFEE] (%HA)
17t 56.0 (-) (-3) | A g
A:Indygo Shiner £ :Coatue Guy Snowden & Dia
NN 4 5 | EEdE 1:42.3 2-2-2-2 | 37.7| — 3 417 | AR — (55HR)
TrEa1TR 56.0 (7€) (7) |BAAE
Ry TELRVF— B:Y&/3a%2 EHENE
— o o8 | EHERE 1:43.0 3-3-3-3 [88.2| — 1 480 | FRILERE (%)
YvZENLZXY 54.0 3) (+9) | LIHER
R:8Z/FXLLy b BYYZUANT o SRS
4 5 | EEXS 1:43.2 5-5-4-4 |38.0| — 5 396 | BARG— (%)
~ILxIb £252.0 a) (-g) |BAMEZ -
R:J52T2 8~ B:XA—hIT 4 NE =&HHS
K 4 5 | RBEZ 1:43.7 7-7-7-7 | 38.1| — 7 421 | REERSLT (5HR)
XML TREX 54.0 @ 1/2) o) | &) K=24T
RixAoav4y Ry BixA4oavsaqh =AE BC
N — 4 5 | ARER 1:43.7 6-6-6-5 |38.3| — 4 533 | BAEE (1)
6|55/~ 56.0 7€ 1) ) Tr—2hEVas
L:TNhtEy b B/ =% by F—L— - JvIS> - 77— LERE
L H I it 5 | AEHE 1:44.9 4-4-5-6 |39.7| — 6 405 | BEHIER (542)
71111 7>A3x 54.0 ®) (-3 | B £=257
LT RIA YT v B:7Y)F40221I0 =E Rl
® I —F—EBIERL
13=7r= 2,7,6,1,4,5,3
2a|=7r= 2,7,6,1,4,5,3
Jol=5r= 2,7,6,4,1,5,3
40—+ — 2,7,6,4,5,1,3
[ N3
BB 2 210/ 714K 2-7 150H B = 2-7 440M 3EHE 2-6-7 170
8 B 2 110M 2-6 100M B H 2-7 550 K31 2-7-6 970M
7 160/ 6-7 180M

ABICOVWTRDTEEERROODE. TR LIV,




